Factor B: Fullness

Factor A: Empty Full
Weight Normal | n=20 n=20 Tormar = 740
X =22 X =15
T=440 T=330
SS=1540 SS=1270
Obese | n=20 n=20 T pese = 700
X =17 X =18
T=340 T=360
$S=1320 SS=1266
Tty = T80 | Ty = 660 G=1440
N=80
X7 = 31836
X, =18
(X,)* = 324
N = 80
Nk (X,)* = 25920

step 1. Build hypotheses
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(2) FullnessOll 2 xHO|

Hi: py, = I,

empty

HO: u B = M8y,

(3) Weight2t Fullness8 SAIF&HH WE X0
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HO: Factor A%} Factor B 2t9 Als&E22 =Mootk L=C0Ch =, 2219 Aejoll MetMd L
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step 2. Locate the critical range for F-ratio. calculate the df s
1. dfrppag = N—1=179

2. dfwithin = deeach treatment
=19+ 19+ 19+ 19

=76
3. dfierween = k— 1 (k is number of cells)

=3

4. df , = number of levels of 4A—1 =1

5. df 5 = number of levels of B—1 =1

6' delB dfb(fuunideide

3—1—-1

=1

compute F-ratio
SS

2

G
SSI‘oz‘al ZX-

14402
80

= 31836 — 25920
= 5916
2. SSyithin = ZS“S:ﬁ(zr,'/l,tr‘cntmcn,f
= 1540 + 1270 + 1320 + 1266

= 5396
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3 SSbetueen = T - W

2 2 2 2 2
_ 440 i 300 n 340 i 3607 1440
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= 9680 + 4500 + 5780 + 6480 — 25920

= 520



(TA )2 G2
4. S8, = ZT -
740° | 700 1440
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= 13690 + 12250 — 25920

=20

(T3)2 G2
5. 89, = Zn—B -

2 2 2
144
780 4 660 0

40 40 80

= 15210 + 10890 — 25920

= 180
6- SSA:L‘B = SSbetu:eﬁn - SSA - SSB

= 520 — 20 — 180
= 320
MS
1. MSA=$2?220
2. MSB:%:$:18O
3. MSy,5= jfsjj = 3% = 320
o Mo = = B =
F-ratio
1. F,(1,76) = #S:m - i_(l)
2. F,(1,76) = MJZ‘%’ - 17810
MSy, 5 320

3. FAIB(1776) = MSwithin = 71



Table 1. Mean number of crackers eaten in each treatment condition
Fullness
Empty stomach Full stomach
Weight Normal M=22 M=15
SD=9.00 SD=8.18
Obese M=17 M=18
SD=8.34 SD=8.16

Table 2. Result

Source SS df MS F
Between treatment 520 3 |520/3 -

- Factor A (weight) 20 1 20 20/71 = 0.28
- Factor B (fullness) 180 | 1 180 | 180/71 =~ 2.54
— A x B interaction 320 1 320 | 320/71 = 4.51
Within treatment 5396 | 76 71 -

Total 5916 | 79 - -
weight x fullness factorial design

3.
Fy citicat vatue (1 76) > Fy cateutated vatue (1, 76)
D YItE 2 RHOA Rot, HPRIE S KKK Rote 232 Wt
F cticat vatue (1, 76) > Fi cteutated vatue (1, 76)
HIotE 2 RO Rot), HRIEE XXGHA Rote Z2HE Wl
Fiypeiticat vatue (1 76) < Flyy g catreutated vatue (1, 76)
D QItdE 236, HFRI0EE XKote ZHE WECH
4.

WeightOll (2 XI0l= &1, FullnessOll 2 XI0I= QXIS Weight®t Fullness 2+9

ASHEE E=TSHC.
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